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COMMERCE AND ACCOUNTANCY (PAPER-II) 

I Time Allowed : Three Hours j I Maximum Marks : 250 I 
QUESTION PAPER SPECIFIC INSTRUCTIONS 

(Please read each of the following instructions carefully before attempting questions) 

There are EIGHT questions divided in two Sections and printed both in HINDI and 
in ENGLISH. 
Candidate has to attempt FIVE questions in all. 
Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be 
attempted choosing at least ONE question from each Section. 

The number of marks carried by a question/part is indicated against it. 

Answers must be written in the medium authorized in the Admission Certificate which 
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the 
space provided. No marks will be given for answers written in medium other than the 
authorized one. 
Word limit in questions, wherever specified, should be adhered to. 

Assume suitable data, if considered necessary, and indicate the same clearly. 

Attempts of questions shall be counted in chronological order. Unless struck off, attempt 
of a question shall be counted even if attempted partly. Any page or portion of the page 
left blank in the Question-cum-Answer Booklet must be clearly struck off. 
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~-A I SECTION-A 

1. PP•<iR1fu!ct en) ~ ~ (~ WIWT 150 ~ if) : 
Explain the following (each in about 150 words) 10x5=50 

(a) CflT<f ~ Cfi1 BlIBT ~ 
Equity Theory of Work Motivation 

{b) ftorR ~ ft:r.s:Rl 
Figure Ground Principle 

(c) fcl~uflCf>lOI ~ q)/J ICfl{Oi 

Specialisation vs. Professionalisation 

(d) 31~Cfl!fu>Cf> zjerrf (l~ ~ fcr.=it 
Interpersonal Conflict and Johari Window 

(e) WRH if ~ ~ ~ 3'1C!'QRUTT 

Concept of Diversity and Inclusion in the Organisation 

2. fa) wn:r ~ ~oq ~ Cf)s:qf.141 it~ cn1 3ll11 ~ ~ -B fcfiB WflR ~~ cntrt? ~ 
~if fclf~ Cf>l4C!IPllll cfit ~ Cfi1 ~~I~~ if~~ cnl ~ CflG ~ 
~ 3TI11 ~--B cgq ~? 

How do you differentiate Teams from Quality Circles in Total Quality 
Management Companies? Highlight the roles of various functionaries of quality 
circles. What steps would you suggest to implement quality circles in b ig 
organisations? 20 

(b) "~ ~ ~. Ollfm•lct ~ ~ ~ ~ o~ BcfB4!Rt i:n: ~ ~ ~ ~ ~ B'"(tl«l"l 

~ -ITT<fi t I Bfilfcttii, \JI) fen ~'"(t\Bl"l B ~ waT t fen 1J;Cf> f.roP:r -q tjCf>P:lCfl ~ ~ 
qJfctfclCf> liflliCf>"i ctrr ~ ~ ~ i 3ltt 3'IWI ITT"R ~. ~ 3:r~ 3'1~1c:i;Rt<i 1~cnl0n Cf)) 

G¢IT ft<rr ;;nm t ' ~ ftcfftwifct t! ~ ~ fuQ, 3iTl1ro waT ~ 1" w Cfi?.R ctrr ~ ~ ~ 
~ fen "fcfiB Wfir: ~ BIJd;ftl! ctlct lct(OJ ~ ~ fu"t; ~ ~ 3TIW cfa ~ i fen ~ ~ 
fcrcITTt Cfi1 ~ tn I 
"Essentially, groupthink results from the pressures on individual members to 
conform and reach consensus. Committees that are suffering from groupthink 
are so bent on reaching consensus that there is no realistic appraisal of 
alternative courses of action in a decision, and deviant, minority or unpopular 
views are suppressed." Making an analysis of this statement, state how 
management is expected to be inclusive of all views for creating dynamic 
organisational climate. 20 

{c) '\i•1a;f\l! ~ Cflllf-"fcl"~, fshll1Cfla141 Cfi1 B'"(~Cfl(OJ, fshll1Cflci l41 it ~ ~ CfiT4T cfit wn:r 
~Cf)) >r~ Cfi{(f[ i1'' ~ Cfi?.R ~ -qf&~ if fi• 1a;ft4 GR~ w~ ~ Cfi1 ~~I 

"Organisation structure influences the division of the tasks, grouping of 
activities, coordinating the activities and the overall accomplishment of the 
tasks." In the light of this statement, discuss various components of 
organisation structure. 
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3. (a} "m * ~ &Ql<rn1i?:lct> ~it~~ am '1Cll>ICld'1 WRH * 3f~ ~ * ~ 
Jit'\'t"l'{?f ~ %1" ~ ~ "it ~ >r~ICllflfctl ~ * ~ ~ ~ ~ ~ ~ 
~1 fcnB ~ ~ 3i!CfiR, ~' ~' fcrf'l1mfl om ~ "it ~ ~ %? 
"In today's dynamic business environment, continuous learning and 
innovation is important for survival of organisation." In view of this, explain the 
role of culture in increasing organisational effectiveness. How is the culture 
linked with size, structure, complexity, diversity and leadership? 20 

(bJ "W"lcH ~ "Cl"ffi am ~·~H:fk1fr't«f ~ ~ ~ ~ ~ 1 ~ %R * ~ ~ fllAl'"""lctlll 

~ ~ ~ 31Cf~ CfiT ~R1Sf'J:101 ~ ~ 1" ~ q;~ ~ ~ "it ~ zjt:fl'f CfiT >rmclt ~ "it 
~mr Cf>\~~~~~~ At\t"l'{?f <01;ftfd<:t1 CfiT -cRlaJUT ~1 ~ >rct>R ~ ~. 
m ~ ~rctfc:t>14~ci ~ ~ICl~llct>ctl CfiT ~O&lf.:act> 31Ttm >!GR ~ ~? 

"The organisation is made up of overlapping and interlocking role sets. These 
role sets would normally transcend the boundaries of the classical conception 
of organisation." In view of this statement, examine the important strategies 
that can be used to manage intergroup conflict effectively. How do these 
dynamics provide theoretical foundation for the need of today's interfunctional 
team? 

(c} m'l1cfl{UI ~ ~ ~? ~ ~ WT&n il ~ ~ CfiT{ ~ fugcfi %? ~ ~3'.11 ~ 
"@=IT~ * ~ CfflT ~ ~ ~ ~ ~? 

What is agency problem? Do you find any such problem in Indian 

20 

organisations? What steps can be taken to solve such problems? 10 

4 . (a) ''mq~ ~~~~WT~ wR~ll~~WT~ ~ mroefiT~<fl 

~~<filw:im~~1'' ~q;~~w~~<Fl"f ~? ~ 3lf'~ ~<Fl"f i? 

"Impression management is the process by which people attempt to manage 
or control the perceptions others form of them." What are the possible 
implications of this statement? What are its identifiable components? 20 

(b) "&Q IClt'\lf{Cf> ~ ~' ~ ~11a;fll! ~ CfiT ~ ~ ~ f.rtrtfuf CfiGIT W'l1CI" ~ i fef; ~ ~ 

W"lcH Chrstl<fd 312TCIT Rl<hRa % I ~ CfiRCfi ~ % fef; ~-qi:~ f.rufll';r >ITTrmfui ~ rrm % 
~ fef;(Rl f.18 m -qi: ~ fcn<n rrm ~ 1'' ~ q;~ CfiT •-qttaJUT ~ ifIB CfiT 'UlR il wa ~ 
~ fef; ~ ~ ~ il ~ctt~ WT31 <i~'Oi:!< ~ i I 

"Practically, it is not possible to determine whether an organisation is 
centralized or decentralized merely by looking at the organisation chart. The 
determining factor is how much of the decision making is retained at the top 

and how much is delegated to the lower levels." Examine this keeping in mind 
that team-oriented organisations have emerged in recent years. 20 
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{c) &lCl<_;!!la ~ W.fl qftqJ;fl;q ~ cfit ~ ~3fi it ~ ~I 31f~ ~ WT&rt cR 
qf{q<f.fl"-l ~ cfit 3ili5l!?"-lCfldl cp:ft ~? i:i:cfi WrcR lt ~ Z<fT ~ ~ ~ ~ fenlIT '3fT BCRIT i? 
Differentiate the key characteristics of Transactional Leadership and 
Transformational Leadership. Why do most of Indian organisations need 
transformational leader? How can such leader be developed and promoted in 
the organisation? 

~-B I SECTION-B 

s. P.11•"'1fciffsia Cf>1 ~ ~ (~ ~'T 150 ~ 'ij) : 

10 

Explain the following (each in about 150 words) 10x5=50 

fa) fll41MCfl ~ cfit >r'ilCl't?fal 

Effectiveness of Social Dialogue 

(b) ~~ 

Retaining Talent 

(c) 3:fm'1fiiCfl ~ ~. 1947 ~ ~~om a1a1citr<ft 1R "fl111PT m<a 
General Prohibition on Strikes and Lockouts under ID Act, 194 7 

(d) ~ ~a.:iur 

Compensation Survey 

{e) 360 ft!fi !fHt-ci;i1 ~ 

360 degree Feedback System 

6 . (a) "<qffif .q ~ fcmT2ff ~U;jj1 11{l -<W<f wwn B >r~ ~ 3fr\ ~ f.r%:n1 ~ m ~ ~ 

fcmT2ff ;r ~Cfllci~ ~ ~ ~ ~ cfit ~ 'Cfl\ °\% ~ 1" ~ ~ <€1 ~ ~I ~ ~ 
~ CflROiT ~ tJfto'rPit CfiT ~ m ~ nm ~ ~{l;jj111D-~ ~ ~ ~ ~ ~ 
'Cflr4-~ ~~I 

"Professional students in India are facing the problem of unemployability and 
Indian employers are criticizing the professional institutions for not producing 
studen ts as per their standards." Explain this statement. Also identify the 
reasons and consequences for this issue, and suggest action plan to overcome 
this unemployability problem. 20 

(b) ,,~~it~ '3Ul1 ~ ~ cf;t ~~%~~~Cf;) 'Cfllj' cnB ~ ~ 
~ ~ ~ Cf>1 milr ~ ti" ~ ~~ .q ~ 'Cfl~ 1R ~ ~ om ~ ~ 1J,Cn 

'Cflr4-~ ~I 

"In the current scenario, public enterprises are working as model employer but 
their downsizing programme h as daunted this philosophy." Comment on this 
statement in the context of Indian scenario and suggest an action plan for 
them. 

4 
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(c) '''1-lmf ii ~'Q ii~~~~ WlWT ~WI%~~ ;r <it im m~ ~ 
mt:rrftf % ~ ;r tt ~ ii Cfll4Cflitl 1" w m t Cll\ilq(OI t ~ 3'\i(Gllfl ~ Cfl1 "lfttPJUJ" 
~ ~ ~ ~ 31f'[fef) -srmcft ~~~~~~I 

"Workers' participation in management scheme in India is almost a failure 
because it is neither based on sound foundation nor workable in practice." 
Examine the factors responsible for creating this environment and suggest 
rational measures to make it more effective. 

7. (a) 'lJ;Cfl WrcH ii ~ ~ ~ ct>ifi1f{4J ~ >l'fu~ ~ '.fl=t:lfg4 cfiT ~1Cl~4Cflctl m<fi i I lfRCf 

mu<q;r fcr'WT C!>T WTo.:r it ~ fcfiB m ~~ cnGT ~? ~~ ~ ~ ct>i:f:q1f{;ql cfiT 
~zjq;n ~ ~ qffi zj'El1'f Cf>) ~ ~ ~ ~ m ID\T Cflll ~ m om ~ mi fcf>4 ~ 
~? 

A process of digitalization in an organisation requires training and reskilling of 
employees. How should HR Department manage this in the organisation? What 
steps and measure should they take to minimize the conflict arising out of the 

10 

redeployment of employees after the training? 20 

(bJ "Wro.T ~ ~ siRtai;;.r;;a1 Cfll4l"Ff!l! om ~ ~ ii ~m Cf>1 fetct>rna CJ>G ii 4~itj<f?f ~ 
f.r~ t 1" W 'Cfi~ cfiT 'llT«l' ii 'CfiT<fur ~ ~ !>1~ri1fT1cfil Cfill1R4l ~ ~~ ii a:fT&lT ~I 

"Commitment to the organisation plays an important role in developing 
relationship between job satisfaction and labour turnover." Examine this 
statement in the context of major IT companies working in India. 20 

(c) "~ ~ 'CfiT >MTCft ~ ~ o~ ~ % ~ 'B\ft ~1Cl~4Cflctl~ ~ ~ ~' ~ 
. m, ~ ~ft-q"lti'i 3fu: ~ ~trcfil<r ~ ~'q m1" ~ 'Cfi~ ~ ~ ~ ~ TfTRt 
~ ~ cfiT ~l<H4Cflcil 'CfiT ii_t"'<liCfl"l ~I 

"Effective administration of incentive scheme is possible only when all the 
prerequisites such as good methods, good standards, good scheduling and 
good management practices are present." Comment and evaluate the need for 
guaranteed day wages. 10 

s. (a) "'T1ffl ~lf 'CflT '3S:.~ lfRCf ~ ~ ~ ~ ~mch'lon CfiT 11fturrq t ~ ~ ~ C!>T 

3TICfl1'( ~ qffi ~ ~~' "CflTlll, ~ (fCfl fcn ~ Cf>1 ~ cnG ~tft \URIIB Cf>1 Wfli%o 
~ i 1" ~ ~ CfiT ~1(.'?i=t:l'lk4Cfl tRtPJUJ" ~ ~ Wro.T ii~ Cf>)~ 'CfiB om~ 
~ t ~ {Ol;ftf<t;qj ~I 

"The emergence of Talent Management is the result of changing orientations of 
Human Resources Management as it involves all the managers shaping the 

company, the jobs even the strategy to attract talented people." Critically 
examine the statement and suggest strategies for attracting and retaining 
talent in the organisation. 20 
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fbJ lil«i t ~~ <riTT l';lJ:f ~ it ~ ci?t fft41~'h w~ ~ ~t( it fcnB >fCfiR ~ )f[Cf~ m 
rJit %? ~ (<t"i~Cill'Jft t lif~ °B lWllRi'h t!\lffi "f!T'lTI cITT ~ >fCfiR ~ ~ \1fT ml%? 

What type of provisions relating to social security for workers are provided in 
the Constitution and Labour Laws in India? How can such social security 
benefits be improved through collective bargaining? 20 

(c) "m~ CflT ~ ~ ~ ~ ~ 4'1l~~IRCfi qf(qft)('11 <rm >l"'lOJICltifal )fffi CF>B {f~ WTcH t 
mir 3i~f.ff%a -ITT ~ t ~ ~ CfiBl % 1" ~<rm ~ m~ ~ 3iRci14a13il ~ 
-:qaj ~I 

"The main objective of mentoring is to help an employee attain psychological 
maturity and effectiveness and get integrated with the organisation." Elucidate 
and discuss the essentials of successful mentoring. 

*** 

10 

6 884-400 

:,; 


